John Bear Correction:

Error: Rows 14 and 15 of the pants

Should be:

Row 14. Bind off 2 sts, k26, bind off 2 sts (= 26 sts)

Cut off the yarn and shove the work to the end of the needle.

Cast on 30 sts at the same needle and knit the 2nd leg at the same way.
Row 15. p26, purl the 26 sts of the Ist leg (= 52 sts)

Correctie John Beer:

Fout: Rijen 14 en 15 van de broek

Moet zijn:

14.2 st afk, 26 1, 2 st afk (= 26 st)

Knip de draad af en schuif het breiwerk naar de achterkant van de naald.

Zet op dezelfde naald 30 st op en brei de tweede broekspijp op dezelfde manier.
15. 26 av, brei aansluitend de 26 st van de le broekspijp av (= 52 st)

Korrektur Chloe Hase:

Falsch: Reihen 14 und 15 des Hose

Muss sein:

14.2 M abk, 26 re, 2 M abk (= 26 M)

Den Faden abschneiden und die Arbeit zum Ende von der Nadel schieben.

Am gleichen Nadel 30 M anschl und das 2. Hosenbein gleicherweise stricken.
15. 26 li, anschlieRend die 26 M vom 1. Hosenbein li stricken (= 52 M)

**Attention : le modeéle frangais est correct



